
Nombres Entiers (F)

Effectuez chaque opération.

(−88)− (−15) =

20×45 =

(−2015)÷ (−65) =

94+(−98) =

1456÷52 =

(−15)+(−89) =

(−39)+(−96) =

(−160)− (−62) =

(−56)+74 =

972÷81 =

57+80 =

2210÷ (−85) =

14+3 =

666÷ (−74) =

(−2475)÷ (−75) =

(−13)+(−93) =

(−69)− (−12) =

54×68 =

(−91)×98 =

(−91)− (−31) =

795÷ (−53) =

84× (−15) =

84+73 =

16−11 =

60÷ (−2) =

(−8)+(−64) =

(−89)×0 =

75+(−57) =

(−5103)÷63 =

94−82 =

64×60 =

51× (−92) =

(−73)+(−3) =

7+82 =

1577÷19 =

(−34)×62 =

(−74)− (−9) =

(−12)+72 =

(−90)×72 =

(−5978)÷98 =

(−70)− (−46) =

(−957)÷ (−11) =

(−27)+(−82) =

112−59 =

(−99)×35 =
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Nombres Entiers Solutions (F)

Effectuez chaque opération.

(−88)− (−15) =−73

20×45 = 900

(−2015)÷ (−65) = 31

94+(−98) =−4

1456÷52 = 28

(−15)+(−89) =−104

(−39)+(−96) =−135

(−160)− (−62) =−98

(−56)+74 = 18

972÷81 = 12

57+80 = 137

2210÷ (−85) =−26

14+3 = 17

666÷ (−74) =−9

(−2475)÷ (−75) = 33

(−13)+(−93) =−106

(−69)− (−12) =−57

54×68 = 3672

(−91)×98 =−8918

(−91)− (−31) =−60

795÷ (−53) =−15

84× (−15) =−1260

84+73 = 157

16−11 = 5

60÷ (−2) =−30

(−8)+(−64) =−72

(−89)×0 = 0

75+(−57) = 18

(−5103)÷63 =−81

94−82 = 12

64×60 = 3840

51× (−92) =−4692

(−73)+(−3) =−76

7+82 = 89

1577÷19 = 83

(−34)×62 =−2108

(−74)− (−9) =−65

(−12)+72 = 60

(−90)×72 =−6480

(−5978)÷98 =−61

(−70)− (−46) =−24

(−957)÷ (−11) = 87

(−27)+(−82) =−109

112−59 = 53

(−99)×35 =−3465
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